Math 151/171 WEEK in REVIEW 2 Fall 2016
1. Find a-b

(a) |al =2, [b| =5 and the angle between a and b & 150P
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2. Given the wetarsa=< 1, -3 > and b =< —3.4 >. Find

(a) The scalar and vector pro jections of a cato b
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3. A boat sails south with the help of a wind blowing in the direction S3°E with magnitude 400 lb. Find
the work done by the wind as the boat moves 110 fi. (Round your answer to the nearest whole mmber. )
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4. Find, correct to the nearest degree, the angle B of the triangle with the vertices A(1,0), B(4,5), C[-1.2)

BWS) b ati an auph duma_pectors

AR and CB
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5. Find a unit vector -ﬂh-lz--r..\l to the wector < =2,.4 >
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6. Find the walue(s) of r such that the vectors 57+ 3z and ri - 4 are orthogonal
E:‘ ?f— (=}
et 43 (-4)=©
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7. Find the distance from the paint (1.3) to the line 2r — 3y — 5 = x*aﬁ?‘fE:::D "
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8. Find the distance between the parallel bnes y =2r+ 3 and y — 2r = 9.
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9. Find a Cartesian equation for the following parametric curves. Sketch the ourve. {ID 1} i_..,'_-,_= )
(i

ja) z=1-1, y=1-t,-1<1<1
-i:—,.f-— = ,-'fiag
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(c) == tant, y = ot ZI::’I::T fﬁlﬁ-}, %3%
- -3 \\
5{.—. cottt = _ﬂ*-—L% = f'?’( e 5 %)} -1:=%L““

10. An object is moving in the ry-plane and its position after ¢ seconds is r{t) =< £ 4+ ,t -4 >,

a) At what time is the object at the poimt (12-1)
Find + #rcd Had +24e=2  amel E—4=-/
Plag ko e fore - Spaation: 343 913212

(b) Does the chject Tnmﬁ;hrn-i;w paoant (4.8)7 & o frech . )
2= 4 ; s Ef.
1[.;;—4:—?&? i, gy inko s
f£2+;g, = I.l'?-l‘;l'ﬂ:;l: Hé':ré‘f

() Find an equation in r and y whose graph is the path of the ohject

xotih, Y=t etinwnate €

= rFq
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11. Find a vector equation of the line containing the points (1,2) and (3-4).

iy
_ AB= <3l 27
fone. & Fuwﬂlu? to the rector
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2. Find parametric equations of the line passing through the point (-1,1) and parallel to the vectar = 5f

£ Y7 = .::—-fllf'?'l"&-ﬁ.l'l_f?
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13. Determine whether the lines mt) = (=4 + )i+ (6 4+ ¢)F and rt) = (2

papendicular or neither. If they nre not parallel, find their point of int--r-.:, tii::lrl' + (4 — bt |__|;il-"|.l'r‘ parallel
i F(‘ff’}ﬂi —iat, S : La: <843 h-bt>
Lg Il o £d17 N
z;]lvw.{_a,—rg;-: b-lp=0 ]:'
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14. Find all holes and vertical asymptote(s) for the graph of

(z? +5z)(x — 2)
(r+1)(z%2 +4x-5)

and determine the behavior of the function near the vertical asymptotes.

g(z) =

K= [X5)/x-2) _ wS)/x2) | x[x~2
g /x—”)[ﬁ-i-g)/x"f) - /X‘t‘f)/ﬁts;/xu/) k‘f.)/X )
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15. For the function g whose graph is given, state the value of the given quantity, if it exists.

(a) lil_I;_g(r):-l ;
(b) lim g(z) =0
(c) lm g(z) DNE

(d) 9(-2) =2 E

() lim g(z) =9 -

(f) g(0) =0 2+
(8) Jim g(z)=2 \./
{0 [l 1 [l i “;3 i i 1 L 1 | 1

(h) lim g(x)=

24 E 0 4 X
(i) 9(2) =0 ) " o o
G) lim g(z) = Ty ¢ dow not afproc e
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